
5-4 5-52018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

Planter Parts for John Deere®
Aftermarket

PART NO. REPLACES DESCRIPTION
864-RS231K BA28945 Rotating disc scraper kit with nylon covers. Includes 

two wheels, spring and LH, RH arms. For models 1530, 
1535, 1700, 1760, 1780, 7000, 7100, 7200, 7300, 7340.

864-RS331K    — Rotating disc scraper kit with all metal wheels. 
Includes two wheels, spring and LH-RH arms. For 
models 1530, 1535, 1700, 1760, 1780, 7000, 7100, 
7200, 7300, 7340.

864-RS221 AA37221 Rotating disc scraper wheel with nylon cover. (See kit 
RS-231K picture)

864-RS315 AH133315 Rotating disc scraper all metal wheel. (See kit RS-331K 
picture)

864-RS735 AA35734 Scraper arm, left hand. Used with RS-231K, RS-331K, 
7012102 kits.

864-RS734 AA35735 Scraper arm, right hand. Used with RS-231K and 
RS-331K, 7012102 kits.

864-SMA98180KIT A98182, 
A98183, 
A50047

Scraper kit with SMA-99160KIT. Fits 1705 to 1795 and 
DB44 to DB120 planters.

864-SMA50047 A50047 Spring for scraper kits RS231K, RS331K, 
SMA99160KIT, and SMA98180KIT.

488-123012L AA26444 Scraper, left hand for models 7000, 7100.

488-123012R AA26443 Scraper, right hand for models 7000, 7100.

488-123637 A32637 Seeder blade scraper for models 7000, 7100.

488-1237104 A22778 Dirt shield for models 7000 thru 7100.

TUNGSTEN CARBIDE BLADE SCRAPER KITS 
864-SMA99180KIT A98182, 

A98183, 
A50047

HD Scraper kit with 1 each right hand, left hand carbide 
blades and spring (A50047). Fits 1705 to 1795 and 
DB44 to DB120 planters.

864-SMA99160KIT    — HD Scraper kit with 1 each left hand, right hand carbide 
blades, LH, RH arms and spring (A50047). Fits 7200 
and newer, XP, XP Pro, MaxEmerge Plus, MaxEmerge 
2.

864-7012102 AA62559 HD Scraper kit with 1 each left hand, right hand carbide 
blades Only.

864-7012101 Carbide scraper blade left hand.

864-7012100 Carbide scraper blade right hand.
970-B22P Hitch Pin Clip 5/64” x 1-5/16”. Sold Per Bag, 10 Per Bag.

 SCRAPERS AND ARMS

RH LH

RH LH

123637
Right Left

RH

SMA98180KIT

70121007012101

SMA99180KIT

LH

SMA99160KIT



5-4 5-52018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO. REPLACES DESCRIPTION
GAUGE WHEEL DEPTH CONTROL HARDWARE

864-SMA82772K KIT Rocker Body Kit for Walking Gauge Wheels. Fits MaxEmerge Plus, Pro, XP, 
XP Pro, 1530 and 1535. Includes A82773 Stop, A62609 Pivot and A58670 
Shoulder Bolt. Mounting Bolt Not Included.

864-SMA57482 AA57482 Rocker Body with Mounting Hardware (bolt and bushing) for Walking Gauge 
Wheels. Fits MaxEmerge Plus, Pro, MaxEmerge 2 (late), 1530. Shoulder 
Bolt and Rocker Pivot Not Included.

864-SMA62609 A62609 Rocker Pivot for Walking Gague Wheels. Fits MaxEmerge Plus, Pro, 
MaxEmerge 2 (late), XP, XP Pro, MaxEmerge 5, 1530, 1535. 

864-SMA58670 A58670 Shoulder Bolt for Rocker Body. Fits MaxEmerge Plus, Pro, MaxEmerge 2 
(late), XP, XP Pro, MaxEmerge 5, 1530, 1535.

PARALLEL LINKAGE 
864-SMA76223 A76223 Upper Parallel Arm, Standard 15.75” Length, 2 Used. Fits MaxEmerge 2, 

Plus, Pro, XP, XP Pro, MaxEmerge 5, ExactEmerge.  

864-SMA52092 A52092 Lower Parallel Arm, Standard 15.75” Length, 1 Used Per Row Unit. Fits 
MaxEmerge 2, Plus, Pro, XP, XP Pro, MaxEmerge 5, ExactEmerge.  

864-SMA61571 A61571 Upper Parallel Arm, Extended 23” Length, 2 used. Fits MaxEmerge 2, Plus, 
Pro, XP, XP Pro, MaxEmerge 5, ExactEmerge.  

864-SMA84382 A84382 Lower Parallel Arm, Extended 23” Length, 1 Used Per Row Unit. Fits 
MaxEmerge 2, Plus, Pro, XP, XP Pro, MaxEmerge 5, ExactEmerge.  

864-SMA48515 A48515 Parallel Arm Bushing, 9/16” Wide, Up to 7 Used Per Row Unit. Fits 
MaxEmerge 2, Plus, Pro, XP, XP Pro, MaxEmerge 5, ExactEmerge.

864-SMA49465 A49465 Parallel Arm Bushing, 21/32” Wide, Up to 2 Used Per Row Unit. Fits 
MaxEmerge 2, Plus, Pro, XP, XP Pro. 

864-SMA78121 A78121 Parallel Arm Bushing, 13/16” Wide, 1 Used Per Row Unit. Fits Pro, XP, XP 
Pro, MaxEmerge 5, ExactEmerge.

488-123044 A43609 Down Pressure Spring for MaxEmerge, 2, Plus, Pro, XP, XP Pro Units. 

488-123068 AA28046 HD Down Pressure Spring with Plug for MaxEmerge 7000, 7100 Series. 

488-123052 AB10071 Down Pressure Spring with Plug for MaxEmerge 7000, 7100 Series. 

Planter Parts for John Deere®
Aftermarket

SMA62609 SMA82772K

SMA57482

SMA52092

SMA76223

123052

SMA58670

GAUGE WHEEL DEPTH CONTROL & PARALLEL LINKAGE



5-6 5-72018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO. REPLACES DESCRIPTION
864-SMA55927 AA55927, 

AA37474
15” x 3mm Thick Blade, Bearing, Rubber Dust Cap. For Models 7000-7340, 
1700, 1525, 1530.  - Standard Pack 120 per Box -

864-SMA53860 AA53860 15” x 3.5mm Thick HD USA Blade, Bearing, Rubber Dust Cap. For Models 
7000-7340, 1700, 1525, 1530.  - Standard Pack 120 per Box -

864-JD8 60    — 15” x 3.5mm Thick, HD Import Blade, Bearing, Rubber Dust Cap. For Models 
7000-7340, 1700, 1525, 1530.  - Standard Pack 156 per Box -

864-SMA65248 AA65248 15” x 3.5mm Thick HD USA Blade, Double-row Bearing with SMA78218 Dust 
Cap. For XP, XP-Pro, 1530 TruVee Drill, 1535 Integral Drill, ExactEmerge and 
MaxEmerge 5. - Standard Pack 100 per Box -

864-HD65248 AA65248 HD with Cast Hub 15” x 3.5mm Thick USA Blade, Double-row Bearing with 
SMA78218 Dust Cap. For XP, XP-Pro, 1530 TruVee Drill, 1535 Integral Drill, 
ExactEmerge and MaxEmerge 5. - Standard Pack 100 per Box -

864-SMA48879 A48879 Opener Guard MaxEmerge 2, MaxEmerge Plus, Pro, XP, XP Pro. For Models 
1530, 1535, 1760, 1780, 7200, 7300, XP Planter

DUST CAPS & BEARINGS
488-SMA52024 A52024 Dust Cap, Rubberized Plastic for Disc Opener 

Assemblies 55927 and 53860

488-SMA78218 A78218 Dust Cap, Rubberized Plastic for Disc Opener 
Assembly SMA65248

851-SMA59196 A59196 AgSmart Double-row Bearing for SMA65248 Disc Opener Assembly.

851-K21480    — Bearing for SMA55927 and SMA53860 Disc Opener Assemblies

COULTER BLADES
845-W72678 A72678 16” 13-Wave, 3/4” Wide, .177 Thick, 4-3/4” Bolt Circle, 5-Bolt Pattern. Fits 

MaxEmerge 2, MaxEmerge Plus, Pro, XP, XP Pro, 1530, 1535

845-W72680 A72680 16” 25-Wave, 5/8” Wide, .177 Thick, 4-3/4” Bolt Circle, 5-Bolt Pattern. Fits 
MaxEmerge 2, MaxEmerge Plus, Pro, XP, XP Pro, 1530, 1535

COVERING DISC
864-SMA58321 AA33061 

AA58321
Covering Disc Assembly, 8” with Bearing, Hub and Bolt for Disc Closing
Attachment Unit. For Models 7200, 7300, 1705, 1720, 1725, 1760, 1780, 
MaxEmerge Plus, XP and Pro, also Deere-Orthman DR Series Planters 
12,16, 18, 24.

DISC OPENER ASSEMBLIES
Planter Parts for John Deere®

Aftermarket

SMA48879

59196

K21480HD65248
W42678

SMA55927
SMA65248



5-6 5-72018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

FERTILIZER DISC OPENER ASSEMBLIES
PART NO. REPLACES DESCRIPTION

864-SMA27458 AA27458,      

AA57466

Fertilizer Disc Opener Assembly, 13.5" Blade. Uses 
Stamped Bearing Housing and SMA52024 Dust 
Cap. 150 Per Box

864-HD27458 AA27458 Fertilizer Disc Opener Assembly Heavy Duty, 13.5"  
Blade. Uses Machined Bearing Housing and  
Attaches Directly to Fertilizer Bar. No Ring/Spacer 
Required. 100 Per Box

864-HD57466 AA57467      Fertilizer Disc Opener Assembly, 13.5"  Blade. Uses 
Machined Bearing Housing and Attaches Directly to 
Row Unit. Ring/Spacer Included. 100 Per Box

 DUST CAP & NUTS
514-32457C    — Metal Dust Cap for Fertilizer Disc Opener Assembly 

HD27458, HD57466
488-1237188 14H821 Nut for Disc Opener Assembly - Right Hand

488-1237189 14H944 Nut for Disc Opener Assembly - Left Hand

Planter Parts for John Deere®
Aftermarket



5-8 5-92018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO. REPLACES  DESCRIPTION

488-123056 AA31217, GA6056 Closing wheel arm for models 7000, 7100 and Kinze planter.

864-SMA26311 A26311 Spiral pin, 1/4” x 1-1/4” for wheel arm 50 per bag. ( Sold full bags only)

488-1237340 AA37552 Closing wheel arm for models 1760, 1780, 7200 and 7300 planters 
and attachments. 

488-123723 A48430 Cam collar bushing - RH. For 1237340 closing wheel arm. 

488-1236081 A53242 Non-eccentric bushing for 123056 closing wheel arm on models 7200, 
7300. Shaft collar bushing for disc closing attachment on 1760, 1780. 

864-SMA53118 A53118 Support Stop for models 7200, 7300 MaxEmerge and 1700. 

864-SMA93258 A61351, A69141, 
A86763

Closing wheel arm for models MaxEmerge Plus, XP, Pro XP, Pro, 
1750 and 1530, 1535 drills.

864-SMA93258KIT KIT

Closing wheel arm kit. Includes cast iron wheel arm, support,  
T-handle, spring, bushings and fasteners. Wheels not included.  
For  
MaxEmerge 2, Plus, Pro, XP, XP Pro and 1530, 1535 Drills.

864-SMA55888 A55888 Wheel arm bushing for SMA61351

488-123054 AA23116 Closing wheel spring with plug for models 7000, 7100.

488-123052 AB10071 Down pressure spring with plug for models 7000, 7100.

488-123068 AA28046, AA35876 Heavy duty down pressure spring with plug.

488-123044 A43609 Standard down pressure spring for models 7200, 7300.

488-123132 A47132 Closing wheel spring for models 7200, 7300 and 7340.

851-SMAAB16768 AB16768 Press wheel bearing for cotton attachment.

864-SMA16787 AB16787 Press wheel bracket only.

Planter Parts for John Deere®
Aftermarket

 ROW UNIT PARTS & ACCESSORIES

12354

SMA55888

SMA123052SMA53118

SMA1237340
SMA123056

SMA93258KIT



5-8 5-92018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

CLOSING WHEELS, TIRES & BEARINGS

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

Planter Parts for John Deere®

PART NO. REPLACES DESCRIPTION
With Steel Wheel Halves

864-SMA39968M AA39968 Closing wheel assembly 1” x 12”, bearing 
SMA5203PP2, for model 1700.

864-SMA33297    — Closing wheel assembly 1” x 12”, bearing 
SMA885152, for models 7000, 7100.

With Nylon Wheel Halves
864-SMA43899 AA43899 Closing wheel assembly 1” x 12”, bearing 

SMA885152, for models 7000, 7100, grain 
drills 515, 520.

864-SMA43898 AA43898 Closing wheel assembly 1” x 12”, bearing 
SMA5203TN1, cap not included. For models 
7200, 7300

864-SMA39968 AA39968 Closing wheel assembly 1” x 12”, bearing 
SMA5203PP2, for model 1700.

013-11240 A6434 Closing wheel assembly 1” x 12”. Uses bearing 
5203KYY2

Closing Wheel Halves & Tire
013-11200    — Black wheel half for SMA43899, 1” x 12” wheel 

assembly
013-112SC A22325 Closing wheel tire, 1” x 12”

 BEARINGS
864-SMA35638P AA35638 Closing wheel bearing kit for 7200, 7300 Max-

Emerge 2. Also used on 750 grain drill and 886 
row crop cultivator. Used in early SMA43898 
nylon wheels and all AA34211 metal wheels.

851-SMA5203TN1 2-203JD Double-row bearing 17mm I.D. for planter and 
drill wheels. Used in SMA35638 for SMA43898 
planter wheel. AgSmart

851-SMA885152 AA35741, 
AA21015

Stem bearing with hole, fits closing and press 
wheel on 7000-7100 and CIH 800 planters. 
AgSmart

308-5203KYY2 AN212132 Double-row ball bearing 5/8” I.D. and 2-lip seal. 
Fits SMA39968 and many 4.5” x 16” wheel
assemblies. Fafnir

851-SMA5203PP2 AN212132 Double-row ball bearing 5/8” I.D. and 3-lip seal. 
Fits SMA39968 and many 4.5” x 16” wheel
assemblies. AgSmart

Aftermarket



5-10 5-112018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO. REPLACES DESCRIPTION

864-SMA55880 A48302,
A55880 Seed tube with monitor hole for models 7200, 7300, 7340.

864-SMA26183 A26183 Seed tube with monitor hole for 7000, 7100. 24 per carton

864-SMA80203 A80203 Seed Tube Guard for XP and XP Pro Row Units Before SN 720100

864-SMA97107 A97107 Seed Tube Guard for XP and XP Pro Row Units After SN 720100

864-SMA25925 A57071 Seed tube no monitor hole for 7000, 7100. 24 per carton
864-SMA67780 AA67780 Seed tube kit. Smooth-faced translucent tube is made of polycarbonate 

material and allows for sensor to be mounted externally. This provides a 
completely smooth surface for the seed which results in a more consistent 
seed spacing. Compatible with all existing John Deere® planter seed 
sensors. Includes ensor seal and two nylon ties. For 1530, 1535, 1700 
series, 7300, XP, XP-Pro.

864-SMA54755 AA54755 Seed tube guard with holder. Includes two spiral pins.

864-SMA41692 A61577,
A41692

Guard-scraper (cast frog) for models 1530, 1535, 1700, 1760, 1786, 7000 
thru 7340.

864-SMA48879 A48879 Opener guard for models MaxEmerge 2, MaxEmerge Plus, XP, XP-Pro, 
1530, 1535, 1760, 1780, 7200, 7300.

488-123103 A41692 Guard-scraper (cast frog)

488-1230841 A41826 Roll pin used to attach SMA41692 guard-scraper.

488-1230104 A42737 Seed depth stop for models 7000, 7100.

488-123218 — Parallel arm bushing 5/8” ID x 7/8” OD x 9/16” long.

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

SEED TUBES & ACCESSORIES
Planter Parts for John Deere®

Aftermarket

SMA54755

SMA48879

SMA25925

SMA55880,
SMA26183

SMA80203

SMA97107

SMA41692



5-10 5-112018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO.            	 REPLACES	          DESCRIPTION

864-SMA22838	 A22838	 Plastic idler spool 1-9/16” diameter for seed
			   hopper chain on models 7000 to 7340
			   			 
864-SMA30968	 B30968		  Plastic idler spool 1-7/8” diameter for models
	 B30969		  7000 to 7340
			 
864-SMA22628	 A22628		  Plastic idler spool 2-1/4” diameter for drive
			   wheel on models 7000 to 7340

488-123646	 AA35646		  Hanger bearing, 7/8” hex bore

310-SMA17383	 A17383		  Hitch lift pin for model 7000 - 7100,
			   MaxEmerge and Kinze. (Category 2 & 3) 

514-JD32729	 AA32729		  Idler sprocket, 1/2” bore, #40 chain, 14 tooth

514-JD32776	 AA32776		  Idler sprocket, 1/2” bore, #50 chain, 12 tooth

488-1231212	 G1K212		  Idler update kit

514-JD22097	 AA22097, JD9260,	 7/8” hex bore planter bearing
	 G2100-03

514-JD28271	 AA28271		  7/8” hex bore planter bearing, seed
			   transmission and wheel support.

 SPOOLS & SPROCKETS

1231212

..

JD32776

JD32729

Planter Parts for John Deere®
Aftermarket

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.



5-12 5-132018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

SLICER KNIVES & MOUNTING HARDWARE
Planter Parts for John Deere®

Aftermarket

PART NO.	 REPLACES      	 DESCRIPTION

918-TF001785	 001785	 Slicer Knife Made from Cast Chrome Material.
		  Used on MaxEmerge with Curved Seed Tube.

918-TF001985XP	 001985XP	 Slicer Knife Made from Cast Chrome Material.
		  For XP Planters.

918-STCLIP	 001785XPCLIP	 Seed Tube Clip for 001785, 001985 Slicing Insert.

693-1786P	      —	 Fastener Kit for TF001785 (required).
		  5/16” x 7/8” Slotted Head Bolt, 5/16” Locking
		  Jam Nut and 5/16” x 3/4” Roll Pin. (not shown)

918-TF954141	 954141	 7C Slicing Blade with J-Bolt for 959600 Lister.
		  Also for Case Planter.

918-TF410000	 410000	 10C Slicing Blade with Square Head Bolt for
		  100040 Opener. Also for Case Planter.

918-1785VS	   —	 Includes Slicer, Fertilizer Tubing and Mounting 
		  Hardware. For MaxEmerge Pre-2006 and 
		  Kinze 2000 Series.

918-1985VS	 —	 Includes Slicer, Fertilizer Tube, Mounting Hardware
		  For MaxEmerge after 2006, XP, and XP Pro. 

1785VS

1985VS

GAUGE WHEEL ARMS 

TF001785

PART NO.	 REPLACES	      DESCRIPTION

864-SMA7017	 AA41968,	 Gauge wheel arm kit with 2 bushings. For 7000-7300, MaxEmerge 2,
	 AA54179,	 MaxEmerge Plus and 1530, 1535 grain drills.
                                 	 AA79647

864-SMA79648	 A79648	 Gauge wheel arm kit with 1 bushing, for XP planters.                                

864-SMA57057	 A57057 	 Threaded sleeve for 1” bolt

864-SMA57058	 A57058 	 Threaded sleeve for 5/8” bolt

864-SMA26311	 A26311	 Heavy duty spirol pin, 1/4” x 1-1/4” for wheel arm 50/bag. Sold full bags only.

864-SMA97866          A97866,         Gauge Wheel Arm Kit with Grease Zerk and Set Screw. 16mm (5/8”) ID
                                   AA82684        Threaded Sleeve, 4 Shims, 1 Washer, Bolt M16x100mm. Fits MaxEmerge
                                                          Plus, Pro Series.
                                                          
864-SMA92817          A92817          Gauge Wheel Arm Kit with Grease Zerk. 16mm (5/8”) ID Threaded Sleeve,
                                                          4 Shims, 1 ea. Bolts M16X100mm, M17x70mm. Fits Series 1700 s/n 760101
		  & up, DB s/n 755001 & up.

SMA7017 SMA97866 SMA92817



5-12 5-132018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

SMA132B

GAUGE WHEELS
PART NO.	 REPLACES	      DESCRIPTION

864-SMA9Y	 AA32046	 Gauge wheel 4.5” x 16” assembly, Yellow Steel Wheel,
	 AA35392	 chined tire, bearing SMA88515240. For models 
		  7000, 7100, 7300, MaxEmerge before 1992.
864-SMA9B	 AA32046,	 Gauge wheel 4.5” x 16” assembly, Black Steel Wheel,
	 AA35392	 chined tire, bearing SMA88515240. For models
		  7000, 7100, 7300, MaxEmerge before 1992.

864-SMA132B	 AA41359	 Gauge wheel 4.5” x 16” assembly, Black Steel Wheel
		  and a Nylon Cover, chined tire, bearing SMA88515440.
		  For models MaxEmerge Plus, Pro. (SMA assembly)

864-SMA130B	 AA41359	 Gauge wheel 4.5” x 16” assembly, Black Nylon/Steel
		  Wheel, chined tire, bearing SMA88515440. For
		  models MaxEmerge Plus, Pro. (Carlisle assembly)

864-SMA99Y	 AA41359	 Gauge wheel 4.5” x 16” assembly, Yellow Steel Wheel, 
		  chined tire, bearing SMA88515440. For
		  models 7300, MaxEmerge Two built after 1991, 1700,
		  MaxEmerge Plus.
864-SMA99B	 AA41359	 Gauge wheel 4.5” x 16” assembly, Black Steel Wheel,
		  chined tire, bearing SMA88515440. For
		  models 7300, MaxEmerge Two built after 1991, 1700,
		  MaxEmerge Plus.

864-SMA142B	 AN281360	 Gauge wheel 4.5” x 16” assembly, Black Steel Wheel
		  and a Nylon Cover, chined tire, bearing SMA5203PP2.
		  For models MaxEmerge Plus, Pro. (SMA assembly)
864-SMA140B	 AN281360	 Gauge wheel 4.5” x 16” assembly, Black Nylon/Steel
		  Wheel, chined tire, bearing SMA5203PP2. For
		  models MaxEmerge Plus, Pro. (Carlisle assembly)

Planter Parts for John Deere®
Aftermarket



5-14 5-152018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

SMA885152

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

GAUGE WHEEL HALVES, TIRES & BEARINGS
Planter Parts for John Deere®

Aftermarket

GAUGE WHEEL HALVES & TIRES

BEARINGS

PART NO.	 REPLACES	      DESCRIPTION

                                      
864-730014	    —	 Wheel half 4.5” x 16” black with eight outside bolts for
		  use with SMA142B. Will fit SMA9B, 98B and 99B.
864-416CV01	    —	 Nylon wheel cover 4” x 16” black for use with SMA142B.

864-9570Y	 A22780	 Yellow wheel half for SMA9Y wheel assembly
864-9570B		  Black wheel half for SMA9B wheel assembly

013-45160C	 A22884	 Gauge wheel tire 4.5” X 16” for SMA9, 98 and 99. For
		  models 610, 750, 1560, 1565, 1590, 1690,1850, 1860,
		  1865, 1869, 1890, 1895.

013-4516XP	 A77881,	 Offset planter tire 4.5” x 16 for MaxEmerge- Plus, XP;
	 A84062	 Pro XP, 1530, 1535, 1560, 1565, 1690, 1705, 1715, 1725,
		  1735, 1755, 1765, 1785, 1795, 1860, 1895, 1990.
013-6512CST	 A58851	 Gauge wheel planter tire 6.5” x 12” smooth crown

864-SL4X16	 A25915,	 Bearing sleeve, for SMA9 wheel assembly.
	 B118
851-SMA885152	 AA35741,	 AgSmart stem bearing with hole, for closing and press
	 AA21015,	 wheel on 7000-7100 & C/IH 800. SL4X16 sleeve required
                           		  on press wheel. Replaces Kinze A2022, C/IH 128558C91.

851-SMA88515240	 AA35951	 AgSmart stem bearing with hole for 4”x16” wheel.
		  No sleeve required.
851-SMA885154B 	 AN131668	 Groove style stem bearing, short.
851-SMA88515440 	     —	 AgSmart Groove style stem bearing for 4”x16” wheel.
		  No sleeve required.
308-5203KYY2	 AN212132	 Double-row ball bearing 5/8” I.D. & 2-lip seal. For
		  SMA39968 and many 4.5” x 16” wheel assemblies.
851-SMA5203PP2	 AN212132	 AgSmart double-row ball bearing 5/8” I.D. and 3-lip seal.
		  For SMA39968 and many 4.5” x 16” wheel assemblies.

SMA88515440

SMA88515240



5-14 5-152018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

Note:
Not All Chain Assemblies Stocked At All Locations

All Assemblies Include One Connector

Planter Parts for John Deere®
Aftermarket

CHAIN ASSEMBLIES

PART NO. REPLACES    DRIVE CHAIN FOR LINKS
7000 - 7100 SERIES

673-P204038 AA21484 Countershaft to seed transmission 37

673-P204044 AA21483 Seed transmission 43

673-P205050 AA28486 Wheel drive for 7100 49

673-P205053 AA37881 Wheel drive for 4N, 4W, 6N, 7000, 1 offset 51

673-P205056 AA22372 Wheel drive for 6W, 8N, & 12N, 7000 55

673-P41110 A26048 Insecticide / herbicide 109

673-P4198 AA20978 Seed meter 97

7200 - 7300 SERIES
673-P40105 AA32249 Countershaft to seed transmission, 1 offset 103

673-P41102 AA33049 Plateless seed meter 101

673-P41104 AA33048 Insecticide / herbicide 103

673-P41105 AA42795 Plateless seed meter, 1 offset 103

673-P41112 AA33060 Vacuum seed meter for 1720, 1760, 1780, 
MaxEmerge Plus & XP

111

673-P41113 AA43718 Vacuum seed meter for MaxEmerge 2 after 
1992

112

673-P50113 AA37980 Wheel drive for 7200, 1 offset 111

673-P50116 AH131563 Wheel drive for 7300 115

1700 SERIES
673-P40104 AA35365 Driver reverser for 1780 103

673-P40105 AA32249 Countershaft to seed transmission for 1770,                       
1 offset

103

673-P40128 AA35503 Seed transmission drive for 1780 127

673-P4160 AA35927 Jackshaft drive chain for 1770 59

673-P50140 AA32887 Wheel drive for 1770 139



5-16 5-172018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

SLICER KNIFE

SEED TUBES & ACCESSORIES

SCRAPERS

PART NO.	     REPLACES	     DESCRIPTION

864-SMA8324	 GA8324	 Seed disc opener assembly heavy duty,
 		  15” x 3.5mm blade.
		  Standard Pack 120 Per Box

845-SMA9254	 D9254             16” wavy coulter blade. 13-wave 3/4” ,
		  4mm thick (8ga), 4” center hole, 5-1/4” bolt
		  circle with 4 bolt holes 17/32”.
		  – For More Coulter Blades See Section 1 –

488-123012L	 GA2012L	 Scraper, left hand for planter disc openers
488-123012R	 GA2012R	 Scraper, right hand for planter disc openers
			 
488-1237104	 GD1104,	 Dirt shield for disc openers
	 GD1033

918-TF001785	 001785	 Slicer knife made from cast chrome material.
		  Used on Row Unit with curved seed tube.

918-1885VS	    —	 Includes Slicer, Fertilizer Tubing and Mounting 
		  Hardware. For Kinze 3000 Series Row Units.
		
918-1785VS	    —	 Includes Slicer, Fertilizer Tubing and Mounting 
		  Hardware. For Kinze 2000 Series. 

864-SMA26183	 GR0667	 Seed tube with monitor hole. 24/ctn.

864-SMA25925	 GD1130	 Seed tube without monitor hole. 24/ctn.

864-SMA41692	    —	 Guard-Scraper (cast frog)

488-1230841	 GB10241	 Roll pin used to attach guard-scraper
		  SMA41692

488-123102	 GB0102	 Handle for depth adjustment assembly on
		  model GB0102
			 
488-1230104	 GB0104	 Seed depth stop
			 
488-123218	 GB0218	 Parallel arm bushing 9/16” long,
		  5/8” I.D. x 7/8” O.D.

DISC OPENER & COULTER BLADES

Right
Left

Aftermarket

1785VS

Planter Parts For Kinze



5-16 5-172018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

 GAUGE WHEELS  & ACCESSORIES

PART NO.                REPLACES	    DESCRIPTION

864-SMA9W	 A2021	 Gauge wheel 4.5” x 16” assembly, Off-White Steel Wheel,
		  chined tire, bearing SMA88515240. For row unit

864-SMA98W	 GA7949	 Gauge wheel 4.5” x 16” assembly, Off-White Steel Wheel,
		  chined tire, bearing SMA5203PP2.

864-SMA142W	 GA7949	 Gauge wheel 4.5” x 16” assembly, Off-White Steel Wheel
		  and a nylon cover, chined tire, bearing SMA5203PP2.

864-416CV03	      —	 Nylon wheel cover 4” x 16” off-white for use with
		  SMA142W.			         
864-9570W	      —	 White wheel half for SMA9W wheel assembly

864-640038	      —	 Wheel half 4.5” x 16” off-white with eight outside bolts
		  for use with SMA98W & 142W.

013-204008	  GD1086	 Gauge wheel tire 4.5” x 16 for SMA -9, 98 & 99 also
		  Kinze / White 6100 series planters.
 

488-1236614	 GA6614	 Gauge wheel arm new style. Threaded
		  right hand 5/8”-11, smooth sleeve.

864-SMA26311	      —	 Spiral pin 1/4” x 1-1/4” heavy duty for wheel arms 50/bag.
		  (Sold Full Bags Only)

864-SL4X16	  GB0118	 Bearing sleeve, for SMA9 wheel assembly.

851-SMA885152	      —	 AgSmart stem bearing with hole.

851-SMA88515240	 AA35951	 AgSmart stem bearing with hole for 4”x16” wheel.
		  No sleeve required.

308-5203KYY2	   GA6171	 Double-row ball bearing 5/8” I.D. and 2-lip seal. For
		  SMA39968 and many 4.5” x 16” wheel assemblies.

851-SMA5203PP2	   GA6171	 AgSmart double-row ball bearing 5/8” I.D. and 3-lip seal.
		  For SMA39968 and many 4.5” x 16” wheel assemblies.

BEARINGS

GAUGE WHEEL ARMS

GAUGE WHEELS

GAUGE WHEEL HALVES & TIRES

SMA88515240

Aftermarket

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

Planter Parts For Kinze



5-18 5-192018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

CLOSING WHEELS & ACCESSORIES

Listed parts are made by various manufacturers and are not original ent parts for use in equipment of various manufacturers. Original part numbers and products mentioned herein may be trademarks or registered 
trademarks of the respective companies and the use of are for reference purposes only. Our company and the parts listed herein are not connected in any way with the equipment manufacturers mentioned herein.

PART NO.               REPLACES       DESCRIPTION

864-SMA43899	       —	 Closing wheel assembly 1” x 12” nylon wheel
		  halves, bearing SMA885152.

013-11240	 A6434	 Closing wheel assembly 1” x 12”, double-row
		  ball bearing 5/8” I.D. 5203KYY2

013-112SC	 GA108	 Closing wheel tire, 1” x 12”

	
851-SMA5203PP2	 GA6171	 AgSmart double-row ball bearing 5/8” I.D.
		  and 3-lip seal. For SMA39968 and many
		  4.5” x 16”  wheel assemblies.

488-123056	 GA6056	 Closing wheel arm for Kinze row units built 		
		  before 1993.
				         
864-SMA26311	      —	 Spiral pin, 1/4” x 1-1/4” for wheel arm.
		  50 per bag. (Sold Full Bags Only)

488-123113	 GB0113	 Arm stop for planter closing wheel arm
		  assembly GB0113

488-123054	 GA2054	 Closing wheel spring with plug
			        
		
488-123052	 GA2052	 Down pressure spring with plug
			        

488-123249	 GD8249	 New style down pressure spring for
		  quick adjustment

Aftermarket

Planter Parts For Kinze



5-18 5-192018
To Order Call Toll Free   877-55 GO SMA     877-554-6762

2018
WE SUPPLY SUCCESS WWW.SMALINK.COM

PART NO. REPLACES DESCRIPTION
673-P4196 G3303-96 Mechanical seed meter, push unit. #41, 95 links

673-P4198 G3303-98 Mechanical seed meter, pull unit. #41, 97 links

673-P41100 G3303-100 Vacuum seed meter, Push Unit. #41, 99 links

673-P41108 G3303-108 Vacuum seed meter, insecticide or pull unit. #41, 
108 links

673-P41114 G3303-114 Mechanical insecticide, #41, 113 links
673-P40132 G3310-132 Connect wheel drive model 3000. #40, 131 links
803-US4080 G3310-80 Planter chain #40 Diamond USA, 179 links
803-US4092 G3310-92 Planter chain #40 Diamond USA, 91 links
803-US40100 G3310-100 Planter chain #40 Diamond USA, 199 links
803-US40110 G3310-110 Planter chain #40 Diamond USA, 109 links
803-US40118 G3310-118 Planter chain #40 Diamond USA, 117 links
803-US40132 G3310-132 Planter chain #40 Diamond USA, 131 links
803-US40208 G3310-208 Planter chain #40 Diamond USA, 207 links
803-US40226 G3310-226 Planter chain #40 Diamond USA, 225 links

IDLER ARMS, SPOOLS & SPROCKETS

Planter Parts For Kinze
Aftermarket

PART NO.            	 REPLACES	 DESCRIPTION

864-SMA22838	     —	 Plastic idler spool 1-9/16” diameter for seed
		  hopper chain on models 7000 to 7340

864-SMA30968	 GD1067	 Plastic idler spool 1-7/8” diameter for models
		  7000 to 7340

864-SMA22628	    —	 Plastic idler spool 2-1/4” diameter for drive
		  wheel on models 7000 to 7340

310-SMA17383	    —	 Hitch lift pin for model 7000 - 7100,
		  MaxEmerge and Kinze. (Category 2 & 3) 

488-123057	 GA2057	 Drive sprocket 9/16” hex bore
488-1231212	 G1K212		  Idler update kit
488-123213	 G1K213		  Idler arm for G1K213 herbicide drive

1231212

..

CHAIN ASSEMBLIES
All Assemblies Include One Connector


